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25

+
4

= -
125

+
16

= -
109

= -
109

= -2,73
8 10 40 40 40 40

-
7

-
20

= -
49

-
200

= -
249

= -
249

= -3,56
10 7 70 70 70 70

+
4

+
4

= +
4

+
8

=
12

=
2

= 2
6 3 6 6 6 1

+
6

+
5

= +
48

+
35

=
83

=
83

= 1,48
7 8 56 56 56 56

+
10

+
5

= +
70

+
40

=
110

=
55

= 1,96
8 7 56 56 56 28

-
8

+
10

= -
8

+
30

=
22

=
22

= 2,44
9 3 9 9 9 9

+
3

-
10

= +
3

-
50

= -
47

= -
47

= -1,88
25 5 25 25 25 25

-
4

+
50

= -
36

+
1250

=
1214

=
1214

≈ 5,4
25 9 225 225 225 225

-
9

+
7

= -
225

+
28

= -
197

= -
197

= -0,99
8 50 200 200 200 200

+
20

+
5

= +
140

+
50

=
190

=
19

= 2,71
10 7 70 70 70 7



Übung Addition von Bruchzahlen, Hauptnenner, Kürzen, Darstellung als Dezimalzahl

-
10

-
4

= -
20

-
20

= -
40

= -
2

= -0,4
50 20 100 100 100 5

+
9

-
50

= +
63

-
1250

= -
1187

= -
1187

≈ -6,78
25 7 175 175 175 175

+
50

+
20

= +
250

+
40

=
290

=
29

= 14,5
4 10 20 20 20 2

+
20

+
5

= +
500

+
45

=
545

=
109

= 2,42
9 25 225 225 225 45

+
6

+
10

= +
150

+
40

=
190

=
19

= 1,9
4 25 100 100 100 10

+
7

-
50

= +
35

-
450

= -
415

= -
83

≈ -9,22
9 5 45 45 45 9

+
5

-
10

= +
125

-
20

=
105

=
21

= 1,05
4 50 100 100 100 20

+
7

-
25

= +
21

-
250

= -
229

= -
229

= -3,82
20 6 60 60 60 60

+
4

-
8

= +
16

-
40

= -
24

= -
6

= -0,24
25 20 100 100 100 25

-
7

+
7

= -
63

+
70

=
7

=
7

≈ 0,08
10 9 90 90 90 90

+
6

+
5

= +
12

+
25

=
37

=
37

= 0,37
50 20 100 100 100 100

-
20

-
25

= -
160

-
225

= -
385

= -
385

= -5,35
9 8 72 72 72 72

-
7

+
20

= -
35

+
40

=
5

=
1

= 0,25
4 10 20 20 20 4

+
50

-
10

= +
200

-
70

=
130

=
65

= 4,64
7 4 28 28 28 14

+
9

-
9

= +
36

-
45

= -
9

= -
9

= -0,23
10 8 40 40 40 40

-
10

-
25

= -
20

-
75

= -
95

= -
95

= -7,92
6 4 12 12 12 12

-
7

+
20

= -
28

+
140

=
112

=
4

= 4
7 4 28 28 28 1

+
9

+
25

= +
18

+
25

=
43

=
43

≈ 5,38
4 8 8 8 8 8

-
9

-
9

= -
18

-
9

= -
27

= -
9

= -4,5
3 6 6 6 6 2

-
5

-
9

= -
100

-
27

= -
127

= -
127

= -2,12
3 20 60 60 60 60


